AVM
HE AR IS i 1 HANSAVFLEX

_}:3
B0 1 KBITRGL, B A i W
BHFX 1 B ) P [ —t
02 KEBBRY ! | @l o
BHER 2  SUNFHEEL got L QT
GHRE  EARGREE | Y 27 !
gUrx BB ! | NS
wE DIN 2353 T

I1ISO 8434-1
BREBE  HHERSNMERDHTGHEREL
[T E

RERP BERE

7R
BXRE. EA, ENNEAAFHTERENHERCSAERERNEAEL.
@

GRS THEH B
AVM NW 04 L L PN 315 6 M10x1 M12x1.5 14 8 24,5 14 14
AVM NW 06 L L PN 315 8 M12x1.5 M14x1.5 17 12 26,5 17 17
AVM NW 08 L L PN 315 10 M 14 x1.5 M16x 1.5 19 12 27,5 19 19
AVM NW 10 L L PN 315 12 M16x 1.5 M18x 1.5 21 12 30,5 22 22
AVMNW10L 18 L PN 315 12 M18x1.5 M18x 1.5 23 12 30,5 24 22
AVM NW 10 L 22 L PN 315 12 M22x1.5 M18x1.5 27 14 31,5 32 22
AVM NW 13 L L PN 315 15 M18x1.5 M22x1.5 23 14 31,5 24 27
AVM NW 13 L 22 L PN 315 15 M22x1.5 M22x1.5 27 14 31,5 27 27
AVM NW 16 L L PN 315 18 M22x1.5 M26x1.5 27 14 31,5 27 32
AVM NW 20 L L PN 160 22 M26x1.5 M30x2 31 16 32,5 32 36
AVM NW 25 L L PN 160 28 M33x2 M 36 x 2 39 18 35,0 41 41
AVM NW 32 L L PN 160 35 M42x 2 M45x 2 49 20 42,5 50 50
AVM NW 40 L L PN 250 42 M48x 2 M52 x 2 55 22 46,5 55 60
AVM NW 03 S S PN 630 6 M12x1.5 M14x1.5 17 12 27,0 17 17
AVM NW 04 S S PN 630 8 M14x1.5 M16x 1.5 19 12 29,5 19 19
AVM NW 06 S S PN 630 10 M16x 1.5 M18x 1.5 21 12 32,0 22 22
AVM NW 08 S S PN 630 12 M18x 1.5 M20x1.5 23 12 34,0 24 24
AVM NW 10 S S PN 630 14 M20x1.5 M22x1.5 25 14 36,5 27 27
AVM NW 13 8 S PN 400 16 M22x1.5 M24x1.5 27 14 37,0 27 30
AVM NW 16 S S PN 400 20 M27 x2 M30x2 32 16 43,0 32 36
AVM NW 20 S S PN 400 25 M33x2 M 36 x 2 39 18 48,0 41 46
AVMNW20SM42 S PN 400 25 M42x2 M 36 x 2 49 20 51,0 50 46
AVM NW 25 § S PN 250 30 M42x2 M42 x 2 49 20 51,0 50 50
AVM NW 32 § S PN 250 38 M48 x 2 M52 x2 55 22 60,0 55 60
ZHRILL=3FER =B S=E - PN=HIEEH PB=HAIKED - 0d2=EHER
FREH

AVM VA  BEARBRIEE THH

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



